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conservative system

self-locking screws

parallel-axis theorem

principle of virtual work

principle of impulse and momentum

coriolis acceleration

space cone

simple harmonic motion
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A load W of magnitude 600 N is applied to the linkage-at B. The constant of spring is k =
2.5 kN/m, and the spring is unstretched when AB and BC are horizontal. Neglecting the

weight of the linkage and knowing that'1'=-300 mm, determine the value 6 correspomding to
equilibrium. (= + &)

A 1 kg block B is'moving with a velocity vy of magnitude vo = 2 m/s as it hits the 0.5 kg sphere
A, which s at'rest and hanging from a cord attached at O. Knowing that i = 0.6 between the
block and‘the horizontal surface and e = 0.8 between the block and the sphere, determine after
impact (a) the maximum height h reached by the sphere, (b) the distance x traveled by the
block. (= + %)
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4. A cylinder of weight W and radius r is suspended from a looped cord as shown

One end of

the cord is attached directly to a rigid support, while the other end is attached to a spring of

constant k.
(= +»)

Determine the period and natural frequency of the vibrations of the cylinder




